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1.1
AUTOKUIL.T8r (

108 10

400

14 3

1:0.020

5400

6 000

1 000

200°0:1

2600

5400

Hf=1. 000

600

600

4118

[BEAZ : mm]

1.5

B 10000(mm)

o ck
o ck

SD295

35.00 ( )

30  (N/mm?)
30 (N/mm?)

FORUMS8




(KN/m)

24.500

10.000

19.500

15.000

19.000

14.000

1.6
@

0.000

0.000

(m
(m

Hr

@

[1]

1.000

HF=

—— e e e e e o e e ]

1.000

FORUMS8



1.7
[1]
I_IY\WWWWwWW\W\V\WWWWWJ/dl\lrd/\l/WWJ/WW\I/WW\II\!/\!IW\II\V\WWV/M/\W\VM/W\W\V
]
(]
1
[
1|
[
[
[
(|
[
[
[
[
[
1|
B
—_——d e
]
(KN/?)
(m) (m
1 0.000 00 10.000 10.000 |o |o |o
1.8
1.9
[1]
] : Ff = 1.000 m, Fr = 1.500 m
i
1|
1!
1!
1
1
|
1|
!
[
|
|
|
Lo
: : Fr=1.500
Ff=1.000 Do AT
z b
1 T ,____]I I_ _________ —I E
| |
L |
1.10
1.11
)
35.000 23.330

FORUMS8



0.000 ( )
0.106 ( )
(kN/m?)
0.000 0.000
1.12
1.13
1.13.1
€Y
(
(kN/m)
(kNm/rad)
Kv (kN/m) 104924.196
Pmin > 0 Pmin
@
2.000 (m)
o E;  kN/m?
(m)
1 5.000 5600.000 11200.000
2 15.000 28000.000 56000.000
3 5.000 120400.000 240800.000

FORUMS8



1.13.2
( ) D 500.0 (mm)
Do 2.0 (mm)
Ds 0.0 (mm)
Ec 20.00x 10* (N/mm’)
t(mm) m
1 SKK490 8.0 25.000
1.13.3
x 10 (N/mm?) 2.800
n 10.00
1.14
1.14.1
@
L = 25.000 (m)
@
Ra = —— «Ru
n
Ru=qd A+U X (Li fi) ( )
Ru=qd A+U X (i fi DE) ( )
Ra : (kN)
n 3.0 2.0
Yy 1.0
Ru : (kN)
qd : (kN/mZ)
A (m?)

D

A= % - 0.5000° = 0.196 (n%)

SCESE DB ANES
= = 3.00
oIRES

REFHNGE = 40.0

94 990.0

N

qd = 220.0 40.0 =8800.0 (kN/m?)
u : (m)
U=rm 0.5000 =1.571 (m)
Li : m
fi: (kN/m?)
DE :

FORUMS8



y i Ws fi Li fi
No N Li(m) | (kN/m) (kN) | (kN/m?) (kN)
1 2.0 5.000 10.00 9.817 0.0 0.0
2 10.0 | 15.000 10.00 29.452 50.0 750.0
3 43.0 5.000 10.00 9.817 | 100.0 500.0
25.000 49.087 1250.0
Ru=qd A+U Z (Li fi)
=8800.0 0.196 + 1.571 1250.0 = 3691.371 (kN)
Ra = —— -+ Ru
n
1.0
=20 - 3691. 371 =1230. 457 (kN)
2)
vy i Ws fi DE Li fi DE
No N Li(m) | (kN/m?) (kN) | (kN/m?) (kN)
1 2.0 5.000 10.00 9.817 0.0 1.000 0.0
2 10.0 | 15.000 10.00 29.452 50.0 1.000 750.0
3 43.0 5.000 10.00 9.817 | 100.0 1.000 500.0
25.000 49.087 1250.0
Ru=qd A+U X (Li fi DE)
= 8800.0 0.196 + 1.571 1250.0 = 3691.371 (kN)
Ra = —— - Ru
n
1.0
=50 -+ 3691. 371 =1845. 686 (kN)
(€))
1
Pa = —+Pu
n
Pu=U X (Li
Pa : (kN)
n : 6.0 3.0
Pu : (kN)
iy

FORUMS8



1.14.2

1.14.3
o

D

2)

HiAE7)s B E A RER G R & 77
Pu=U- XLi-fi
= 1.571+ 1250.0 = 1963.495 (kN)
RBITkE 77
1

Pa = — < Pu
n

L. 1963.495 = 327.249 (kN)
6.0
2)
HAE D DI E BMRS R & )
Pu=U- 3Li-fi
= 1.571+ 1250.0 = 1963.495 (kN)
TRFITk&E 77
1
Pa = — «Pu
n
1

50 - 1963.495 = 654,498 (kN)

(cm) (kN) (kN)

1.50 1230.457 -327.249

(N/mm?)
O O s T a T =2
1.00 10.000 180.000 0.250 | 1.900
(N/mm?)
(O O s Ta T2
1.00 10.000 180.000 0.250 | 1.900

Ta
TaZ

FORUMS8



@

D

(N/mm?)

1.00

185.000

185.000

105.000

FORUMS8




2
2.1
(€H)
1)
2
4 5
2)
@ Vi Xi Vi Vi
x x Vi(mz) i vi 1 1 1 1
1 1/2x 0.108x 5.400x 1.000 0.292 1.072 2.400 0.313 0.700
2 0.400x 5.400x 1.000 2.160 1.308 3.300 2.825 7.128
3 1/2x 0.010x 5.400x 1.000 0.027 1.511 2.400 0.041 0.065
4 1.518x 0.600x 1.000 0.911 0.759 0.300 0.691 0.273
5 2.600x 0.600x 1.000 1.560 2.818 0.300 4.396 0.468
2 4.949 8.266 8.634
XG > Vi Xi 2 Vi 8.266 4.949 1.670 (m)
YG > Vi Vi > Vi 8.634 4.949 1.744 (m)
@
1
i
|
|
|
|
|
|
I
I
| 2
I
|
|
I
|
|
|
I
———
! I
N, 4
2)
™ Vi Xi Vi Vi
% % Vi) ” Vi i Xi i Vi
1| 1/2x 0.010x 5.400x 1.000 0.027 1.515 4.200 0.041 0.113
2 2.600x 5.400x 1.000 14.040 2.818 3.300 39.565 46.332

FORUMS8
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(m . .
< < vi(m) % v Vi Xi Vi Yi
> 14.067 39.606 46.445
X6 T Vi Xi  ZVi 39.606  14.067 2.815 (m)
YG > Vi Vi > Vi 46.445 14.067 3.302 (m)
€)
[1]
D
1
L
1!
1!
1
1
|
1|
!
[
|
|
|
1|
[
[
| |
b
|
|
__________ |
L J
2)
(m . .
% % Vi) % v Vi Xi Vi Yi
1 1.000x 0.400x 1.000 0.400 0.500 0.800 0.200 0.320
2| 1/2x 0.008x 0.400x 1.000 0.002 1.003 0.867 0.002 0.001
> 0.402 0.202 0.321
X6 = Vi Xi  ZVi 0.202  0.402 0.502 (m)
Y6 X Vi Yi I Vi 0.321  0.402 0.800 (m)
2.2
@
[1]
Wy v X
(kN) (m
24.500 x 4.949 121.260 1.670

FORUMS8
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@
[1]
D

®
[1]

( )
(m) (m)
v(m) X Y vI(m) X1 vI
( ) 14.067 2.815 3.302 0.000 0.000 0.000
( ) 0.402 0.502 0.800 0.000 0.000 0.000
(m
Vu(m) Xu Yu
( ) 14.067 2.815 3.302
( ) 0.402 0.502 0.800
Vu vV VI
Xu v X VI XI) Wu
Yu v Y VI YD Wu
Wu Vu ] VI
(kN) (kN)
( ) | 14.067 x 19.000 267.273 0.000 x 19.500 0.000
( ) 0.402 x 14.000 5.622 0.000 x 15.000 0.000
W X
Wu WE | (Wu Xu WI XD)/wW
(kN) (m
( ) 267.273 2.815
( ) 5.622 0.502
)
(m (kN.m)
Ni Hi
(kN) (kN) Xi Yi NI Xi Hi Vi
121.260 0.000 1.670 0.000 202.519 0.000
267.273 0.000 2.815 0.000 752.506 0.000
5.622 0.000 0.502 0.000 2.822 0.000
394.155 0.000 957.846 0.000

FORUMS8
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2.3
1
N = E (ql4+q2) * L
q
L
X
[1]
EEEEEEEEEEEE]
|
b
1|
!
|
|
|
|
|
|
[
[
|
|
[
|
|
|
|
b
A 7
N, J
gl 92, L N X
(KN/) (KN/m) (m) o ™
1 10.000 10.000 2.610 26.100 2.813
2.4
[1] ( )
Xp 4.118 m
yp 0.000 m
H 6.000 m
a 0.000 °
ys 19.000 kN/m*
® 35.00 °
) 35.000 °
Wi 10.00 °
(w) Q) Q)
hw 0.000 m
WCKN)

() P (kN)
56.00 | 230.682 0.000 40.471 | 271.153 100.147
57.00 | 222.097 0.000 38.964 | 261.061 100.368
58.00 | 213.705 0.000 37.492 | 251.197 100.343

80.00 °

FORUMS8
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2.5
@
[1]

w

Ph

Pv

Ho

57.00° P 100.368 kN

Wesin(ow—2¢)

coslom—¢p—a—0)

261. 061 X sin(57.00° —35.00° )
cos(57.00° —35.00° —0.000° —35.000° )
100.368 kN

P cos(a &) 100.368x cos( 0.000°  35.000° )

P sin(a &)  100.368x sin( 0.000°  35.000° )

Xp Ho tana 4.118 2.000x tan0.000° 4.118 m
yp Ho 0.000 2.000 2.000 m

82.217 kN

57.569 kN

57. 569

( )

I_I

|

N

B

|

|

I
——— 1
L ]

FORUMS8
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(KN..m)
Ne (kN He (kN) X (m) Yo m [ Me Ne X M HoY
304.155 0.000 2.430 0.000 957.846 0.000
26.100 0.000 2.813 0.000 73.419 0.000
57.569 82.217 4.118 2.000 237.069 164.434
477.824 82.217 1268.335 164.434
N, H, M,
(kN) (kN) (KN.m)
( ) 477.824 82.217 1103.901
@
. o (kN)
. H, (kN)
Me  No B, 2.0 M, (kN.m)
B, 4.118 m
| |
Ne He M.
(kN) (kN) (KN.m)
( ) 477.824 82.217 |  -120.060
= (10.000m)
N. He M.
(kN) (kN) (KN-m)
( ) 4778.243 |  822.170 | -1200.603

FORUMS8
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2.6
2.6.1
@
( )
25.000 (m)
0.000 (m)
o) 500.0 (mm)
tl 2.0 (mm)
2 0.0 (mm)
E 20.0 x 10°  (N/mm%)
@
1
SKK490
t(mm) 8.0
(mm) o:= -2 t 496.0
mm) @ .= @ -2 (t-t) 484.0
(cm®) A=m/4 (¢ -9) 92.3628
(cm) Z=m/64 (0 -0:)/(9./2) 1117.9248
(cm) 1 =11 /64 (@ f-9.) | 27724.5361
2.6.2
4118
50021 559=3 118 50 (BT : mm]
O O|—3+
O
O O
O g
o o| L ¢
O 5
O @)
O
O Ozt

FORUMS8
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2.6.3

3 9
Xi Ni 0 Zi Ni
(m ) ) ) m )
1| 1.559 0.0 0 1] 4.500 2
2| 0.000 4 0.0 0 2| 3.375 1
3| -1.559 5 0.0 0 3| 2.250 2
4| 1.125 1
0.000 2
6| -1.125 1
7| -2.250 2
8| -3.375 1
9| -4.500 2
Bh -3/4
Kh KhO(———J
|
Kh0 = — + o + Fo
0.3
Kh (KN/m°)
Kho 0.3m
(KN/m°)
a
Eo (kN/m?)
Bh () Bh Kh
1B
Bh = 4D 8 = 1.196 (w)
1 B 2.861576 (m)
g o= 2D 0458 (o)
4 . E . m
1B Kh  6615.50879 (KN/m°)
B (m)
B (m™)
D (M D  0.5000
E (kN/m?) E 200000000.0
I ) I 0.000277245
(m) a Eo2 DE a Eo2
(kN/m) /e KN/ (kN/m) (/e (KN/iT)
1| 5.000| 5600.000 6.616 | 6615.509 | 1.000 | 11200.000 13.231 | 13231.018

FORUMS8
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2.6.4

€Y)

@

(m a Eo2 DE a Eo2
(kN/m) (/e (kN/T) (kN/m) (N/erd) (KN/T)
2| 15.000 | 28000.000 33.078 | 33077.544 | 1.000 | 56000.000 66.155 | 66155.089
3 5.000 | 120400.000 142.233 | 142233.441 | 1.000 | 240800.000 284467 | 284466.882
Ap < Ep
K, = a- = 1049241. 960 (N/cm) = 104924. 196 (kN/m)
Kv
a L D
a 0.014 L D +0.720 1.420
Ap Ap 0.0092 m»
Ep Ep 200000.0000 (N/mm?)
L 25.0000  (m)
D 0.5000  (m)
K1 (kN/m) 9586.293 15978.933
K2 (kN/rad) 13890.704 19252.955
K3 (kN.m/m) 13890.704 19252.955
K4 (kN.m/rad) 40206.309 46731.016
K1 K3
(KN/m)
(kN.m/m)
K2 K4
(kN/rad)
(kN.m/rad)

FORUMS8
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2.6.5

€Y)

AXX
Ayx
Aax

Axx
Axy
Axa
Ayy
Aya
Aaa

Ho
Vo
Mo
o X
dy

X
01

IF

OdXx Axy dy Axa a = Ho
X Ayy 0y Aya a = Vo
Odx Aay Oy Aaa a = Mo
> (KL cos®®@i K, sin® i)
Ayx > (Kv K1) sinB i cosO i
Aax >{(Ky K1) X; sinBi cosb i K2 cosO i}
S (K cos’®i K1 sin® i)
Aay S{(K, cos®i K1 sin®i) Xi K2 sind i}
S{(Kv cos®@i K1 sin®i) X (K2 K3) Xi sin@ i
(kN)
(kN)
0 (kN.m)
0 (m)
0 (m)
(rad)
X (m)
i ()
Axx Axy Axa 1. 34208E+005 0. 00000E+000
A= Ayx Ayy Aya = 0. 00000E+000 1. 46894E+006
Aax Aay Aaa -1. 94470E+005 2. 91038E-011
8. 19271E-006  —1.01401E-023
A = -1. 01401E-023 6. 80764E-007
5, 11792E-007 -6, 99788E-024
Axx Axy Axa 2. 23705E+005 0. 00000E+000
A= | Ayx Ayy Aya | = 0, 00000E+000 1, 46894E+006
Aax Aay Aaa -2. 69541E+005 2. 91038E-011
4.97433E-006  -8. 29010E-024
A = -8. 29010E-024 6. 80764E-007
4, 18421E-007 -6, 88034E-024

K4}

. 94470E+005
2.91038E-011
3. 11305E+006

. 11792E-007
. 99788E-024
. b3200E-007

. 69541E+005
. 91038E-011
. 20440E+006

. 18421E-007
. 88034E-024
. 47267E-007

FORUMS8
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@

®
[1]

2.6.6
[1]

0 « 0, a
(cm) (cm) (rad)
( ) 0.612 0.325 -0.00000327
( )
PNi PHi Mti
(kN) (kN) (kN.m)
1 340.768 58.726 | -85.161
2 341.303 58.726 | -85.161
3 341.838 58.726 | -85.161
( )
) Mmax 85.161 (kN.m) 0.000 (m)
) Mmax 54.250 (kN.m) 2.000 (m)
Mmax 85.161 (kN.m)
1/2Mmax:  42.581 (kN.m) 3.774 (m)
Smax 58.726 (kN)
m (kN523 5 M S M S
(cm) | (kN.m) (kN) 5 (cm) | (kN.m) (kN)
0.000 6616 -0.61 -85.161 58.726 -1.23 0.000 58.726
2.000 6616 -0.42 -5.660 22.963 -0.48 54.250 3.847
4.000 6616 -0.16 18.452 4.084 -0.08 41.095 | -12.652
5.000 6616 -0.07 20.437 0.383 0.00 27.609 | -13.890
6.000 33078 -0.02 16.768 -6.238 0.03 14.491 | -11.567
8.000 33078 0.01 4.428 -4.534 0.02 0.232 -3.129
10.000 33078 0.01 -0.511 -0.829 0.00 -1.710 0.326
12.000 33078 0.00 -0.728 0.268 0.00 -0.632 0.502
14000 33078 0.00 -0.194 0.197 0.00 -0.012 0.137
16.000 33078 0.00 0.022 0.037 0.00 0.075 -0.013
18.000 33078 0.00 0.032 -0.012 0.00 0.028 -0.022
20.000 33078 0.00 0.007 -0.011 0.00 -0.002 -0.009
22.000 | 142233 0.00 -0.002 0.000 0.00 -0.003 0.003
24.000 | 142233 0.00 0.000 0.000 0.00 0.000 0.000
25.000 | 142233 0.00 0.000 0.000 0.00 0.000 0.000

FORUMS8
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€Y

®

M [kN-m]
-8b -43

0

—85.16‘H\HHH‘HHH\HIHH

—6.24

|
|
|
|
|
|
'7
I
|
|
|
|

20,44

58.73

@

Q)

54,25

-1.71

S [kN]

0 29 59
H\\l\uuuu‘\uuuu‘58.73

-13.89

FORUMS8
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2.6.7
(cm) (kN) (kN)
( ) 0.612 1.50 341.838 1230.457 340.768 -327.249
2.6.8
[1] ( )
$ =500m M [kN*n]
-166 -83 0 83 166
[, }HRR\\1\0‘\‘\\\\H\H‘HHHH\‘HHH\H}
| | Mr=165.571
| |
| |
| |
| |
\ \
| |
\ -1.71 \
- | |
: i i
& \ \
| |
| |
| |
| |
| |
| |
| |
| |
| |
1
& =500mn M [kN+m]
-165 -83 0 83 165
77@ }HRR\\1\0‘\‘\\\\HH\‘HHHH\‘HHH\H}
| | Mr=165. 441
| |
| |
| |
| |
| |
| |
\ -1.71 \
. i i
g | |
S \ \
| |
| |
| |
| |
| |
| |
| |
| |
| |
3

FORUMS8
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(kN.m)
M N
(kN.m) (kN) ™
1 85.161 | 341.838 165.441 E—
85.161 | 340.768 165.571 —_—
2.6.9
@
N M
o = —*X—
A 7
o (N/mm?)
N Q)
A (mm?) A 9236.28
M (N.mm)
z (mm?) Z  1117.9x 10°
(N/mm?) (N/mm’)
M N
(kN.m) (kN)
) 3 85.161 | 341.838 113.188 185.000 -39.168 185.000
1 85.161 | 340.768 113.073 185.000 -39.284 185.000
@
Q
T = — = T al
A
1 (N/mm*)
Q Q)
A (mm?) A 9236.28
T a (N/mm?)
(N/mm?)
(kN) T T
) 1 58.726 6.358 105.000

FORUMS8
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2.6.10
(LB
B A 1.0
3ok,
B =4 E-h3<m)’ B = 0.364718
K, (kN/m*)
2Ky
k, = = 3b671. 168
1 -
I b b |
’2 \\‘
| = |
Ke 1 (kN/m) Ky 104924196
B (m B 4.118
L m L 10.000
n n 3
m m 9
nm ( ) nm 14
E (kN/m?) E 2.80x 10’
h m h 0.600
A m A 2.059
A b b
b B 2 b B 2
2 n
FH. FH,
FH; (m) FH: 0.600
FH. (m) FH, 3.600 10.000 0.360
®
\ @

@ @

FORUMS8
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3
3.1
3.1.1
@
2
| '_L _________ A
I I
|
@
(m)
% % Vi) g vi Vi Xi Vi Vi
1| 1/2x 0.108x 5.400x 1.000 0.292 | 0.072 | 1.800 0.021 0.526
2 0.400x 5.400x 1.000 2.160 | 0.308 | 2.700 0.665 5.832
3| 1/2x 0.010x 5.400x 1.000 0.027 | 0.511| 1.800 0.014 0.049
z 2.479 | —— —_— 0.700 6.406
XG 2 Vi Xi Vi 0.700 2.479 0.282 (m)
YG > Vi Vi > Vi 6.406 2.479 2.584 (m)
3.1.2
@
[1]
W y v
(kN) X (m)
( ) 24.500 x 2.479 60.736 -0.023
3.1.3
[1] ( )
Xp 0.259 m
yp 0.000 m
H 5.400 m
a 0.106 °
Y s 19.000 kN/m’
(0] 35.000 °
o) 23.330 °

FORUMS8
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Wi 10.00 ° 80.00 °
(w) Q) )
hw 0.000 m
W(KN)
w () P (kN)
58.00 | 173.614 0.000 33.843 | 207.457 81.062
59.00 | 166.963 0.000 32.546 | 199.509 81.152
60.00 | 160.451 0.000 31.277 | 191.728 81.058
w 59.00° P 81.152 kN
Wesin(o—¢)

P =

costo—¢dp—a—20)

199. 509 X sin(59. 00° —35.00° )

cos(59. 00° —35.00° —0.106° —23.330° )

81.152 kN
Ph P cos(a o) 81.152x cos( 0.106°  23.330° ) 74.457 kN
Pv P sin(a o) 81.152x sin( 0.106°  23.330° ) 32.276 kN

H 5. 400
Ho = — = = 1.800 m

3
X Ho tana xp 1.800x tan0.106° 0.259 -0.256 m
y yp Ho 0.000 1.800 1.800 m

3.1.4

FORUMS8
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[1] ( )
i
|
1!
1|
|
1|
L
b
|
i l?
L
| |
| |
Lo
I
:____I_| _________ 1|
- 4
Ni H: Xi Yi M Mat+My
(kN) (kN) (m) (m) (KN.m)
60.736 0.000 -0.023 0.000 0.000
32.276 74.457 -0.256 1.800 134.023
0.000 74.457 134.023
Xi Yi
3.1.5
@
AT T
1 S
= [Bf7 : mm]
Ei= ﬁ
(cm) (cm/ ) (cm®)
| — | —
27| — | —
1 7.0 D25 5.067 4.00 20.268
2 - N
18.433 (cm?)
@
2.
x4 bn {As + x—d)}=0.0
L VxERDD,

FORUMS8
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(x—=d) » (h/2—d)

X

518.000
1000.000

(mm) h
(mm) b
(mm)
As (mm?)
n n

o T T X

ocC (N/mm?)
oS (N/mm?)
M (N.mm)

(mm)

15.00
(mm)

(N/mm?)

(N/mm?)

M N X
(kN.m) (kN) (cm)

) 134.023 0.000 13.747 4.851

10.000

164.387 180.000

®

Tn — é T al

T (N/mm?)
Sh ()
(mm)
b (mm)
T o (N/mm?)

al Ce Cpt CN T u"

o
=
I
—_
_I_
=
I
o
=
IA
A

T a"
Ce
Cpt Pt
CN
Mo
(kN.m)

(N/mm?)

FORUMS8
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(N/mm?)
Si(kN) d(cm) T T« T« Ce | Cpt CN
74.457 44800 0.166 0.379 1.900 1.321.15|1.00

FORUMS8
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[1]

4.1

0.000 m

[BE4Z : mm]

4.1.1
€Y)
D

SR |

2)

Xi

Vi

0.300

0.300

Xi
(m

0.500

Vi

()

0.600

0.600

1.000

1.000x 0.600x

0.500 (m)

0.300 0.600

Vi

Vi Xi

>

XG

FORUMS8



- 30 -

@
[1]
D

2)

4.1.2
€))
[1]

@
[1]

D

i
b
(I
)|
[
1|
|
1|
)|
)|
[
[
[
|
[
[
)|
b
|
i .
b J
Vi Xi Vi Xi
" " @) Q)
1.000x 0.400x 1.000 0.400 0.500 0.200
0.400 | —— 0.200
XG > Vi Xi > Vi 0.200 0.400 0.500 (m)
Wy v X
(kN) (m)
24.500 x  0.600 14.700 0.500
( )
v X 4 X1
(™) (m (m) (m)
( ) 0.400 0.500 0.000 0.000
Vu Xu
() (m
( ) 0.400 0.500
Vu LAY |

FORUMS8
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®
[1]

4.1.3

[1]

Xu (V X VI XI') W
Wu Vu Wi VI
kN) (kN)
( ) 0.400 x 14.000 5.600 0.000 x 15.000 0.000
W X
Wu Wi Wu Xu wr Xbsw
(kN) (m)
« ) 5.600 0.500
( )
Ni Xi NI Xi
(kN) (m) (kN.m)
14.700 0.500 7.350
5.600 0.500 2.800
20.300 10.150
N Z (ni Pi)
( — Zni-Pi-Xi
Zni -« Pi
Pi
Xi
ni
( )
Xi Pi ni Pi ni Pi Xi
(m) ni (kN)
1 0.500 5 340.768 1703.84 851.92
Zni Pi 1703.839
ni Pi Xi 851.920
X 851.920 1703.839 0.500 W)

FORUMS8
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4.1.4
[1] (
1
b
(|
(|
)
[
1|
!
)|
)
)
)
[
)|
[
[
)|
L
4= I
r———L b q
| |
O -
Ni Xi MoNe X
(kN) (m (kN-m)
-20.300 0.500 -10.150
170.384 0.500 85.192
150.084 E— 75.042
4.1.5
€Y)
+ m
: E
T M|
(cm) (cm’/ ) (cm®)
| — | =
| — | —
1 10.0 D13 1.267 8.00 10.136
2 - _
8.954 (cm?)
@
D .
x4 bn {As + x—d)}=0.0
L 0xzERDD,

[BfL : mm]

FORUMS8
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4.2

M
7e T b-x h  x (x—d) » (b, 2—d)
s === +n-as-
2 ( 2 3 ) X
d—x
O — N O
X
X (mm)
h (mm) h  600.000
b (mm) b 1000.000
d (mm)
As (mm?)
n n 15.00
e (mm)
oC (N/mmz)
oS (N/mm?)
M (N.mm)
M X (N/mm?) (N/mm?)
(kN.m) (cm)
) 75.042 10.906 2.969 10.000 159.667 180.000
[2]
0.500 m
!
(I
(B
)
)
(!
1|
|
|
[
[
[
[
[
[
L
2 II I
) Y O B
T i
L |
[EA4Z : mm]

FORUMS8
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4.2.1
@
D
R
[
(B
)
[
1|
1|
)|
)|
[
)
)|
|
[
[
)|
)|
)
[
-
R ]
2)
Vi Xi Vi Xi
" " () ()
1 0.500x 0.600x 1.000 0.300 0.250 0.075
b2 0.300 | —— 0.075
XG > Vi Xi > Vi 0.075 0.300 0.250 (m)
¢
[1]
D
R
(|
[
[
[
1|
1|
)|
)|
[
)
[
|
[
[
)|
)|
b
o L .
L J
2)
Vi Xi Vi Xi
i i () ()
1 0.500x 0.400x 1.000 0.200 0.250 0.050
z 0.200 | —— 0.050
X6 T Vi Xi TVi 0.050 0.200 0.250 (m)

FORUMS8
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4.2.2
€Y
[1]

@
[1]

®
[1]

W y v X
kN) (m
24.500 x  0.300 7.350 0.250
)
1)
Y X Y| X1
(m) (m () (m
( ) 0.200 0.250 0.000 0.000
Vu Xu
(m) (m
( ) 0.200 0.250
Vu VvV Vi
Xu (V X VI XI') W
Wu Vu wi VI
(kN) (kN)
( ) 0.200 x 14.000 2.800 0.000 x 15.000 0.000
W X
Wu Wi Wu Xu wr Xbsw
(kN) (m)
( ) 2.800 0.250
( )
Ni Xi Ni  Xi
(kN) (m (kN.m)
7.350 0.250 1.837
2.800 0.250 0.700
10.150 | —— 2.537

FORUMS8
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4.2.3
N = (ni Pi)
Zni«Pi-Xi
X = T e . 6.
Zni -« Pi
Pi
Xi
ni
[11 ( )
Xi Pi ni Pi ni Pi Xi
(m) ni (kN)
1 0.000 5 340.768 1703.84 0.00
>ni Pi 1703.839
>ni PI Xi 0.000
X 0.000 1703.839 0.000 (m)
4.2.4
[11 (
i
b
[
[
)
(L
1|
1|
|
)|
[
[
[
[
[
[
)|
b
e
-
T |
S -
N Xi Mo N X
(kN) (m) (kN.m)
-10.150 0.250 -2.537
170.384 0.000 0.000
160.234 e -2.537

FORUMS8
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4.2.5
@
M
a > 2.5dDPE  S,= S——tanh
a 2.5d Sy S
Sh )
d (mm)
d* (mm)
b (mm)
S Q)
M (N_mm)
0 0 0.000 tanb 0.000
a (mm)
S M Sh
d" 25 d a M/d*  tan@
() () (kN) (kN.m) (kN)
( ) 50.000 125.000 50.000 160.234 -2.537 0.000 160.234
Sh
Tn — 5 = T al
b-d
T, (N/mm?)
Sk N\)
d (mm)
d- (mm)
b (mm)
S Q)
s (N/mm?)
T a Ce Cpt Cdc T "

T 4" (N/mm?)
Ce
Cpt Pt
Cdc

(N/mm?)
Si(kN) d*(cm) 1 T a T Ce |Cpt |Cdc
( ) 160.234 50.000 0.320 1.161 1.900 1.29 | 0.90 | 4.00

FORUMS8
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[3]

4.3

0.300 m

N |

[EAZ : mm]

3
3';0

i
L—

4.3.1
o
)

2)

Xi

Vi

0.147

0.147

Xi
(m)

0.350

Vi

()

0.420

0.420

1.000

0.700x 0.600x

0.147 0.420  0.350 (m)

> Vi

Vi Xi

>

XG

FORUMS8
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@
[1]
D

2)

4.3.2
€))
[1]

@
[1]

D

i
b
(I
)|
[
1|
|
1|
)|
)|
[
[
[
|
[
[
)|
L
|
En R .
L |
Vi Xi Vi Xi
x x () Q)
0.700x 0.400x 1.000 0.280 0.350 0.098
0.280 | —— 0.098
XG > Vi Xi > Vi 0.098 0.280 0.350 (m)
Wy v X
(kN) (m)
24.500 x  0.420 10.290 0.350
( )
v X 4 X1
(m) (m) () (m)
( ) 0.280 0.350 0.000 0.000
Vu Xu
() (m)
( ) 0.280 0.350
Vu LAY |

FORUMS8
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®
[1]

4.3.3

[1]

Xu (V X VI XI') W
Wu Vu Wl Vvl
(kN) (kN)
( ) 0.280 x 14.000 3.920 0.000 x 15.000 0.000
W X
Wu Wi Wu Xu wr Xbsw
(kN) (m
( ) 3.920 0.350
( )
Ni Xi Ni Xi
(kN) (m) (kN.m)
10.290 0.350 3.601
3.920 0.350 1.372
14.210 4.974
N > (ni Pi)
X = Zni-«Pi-Xi
Zni - Pi
Pi
Xi
ni
( )
Xi Pi ni Pi ni Pi Xi
m ni (kN)
1 0.200 5 340.768 1703.84 340.77
>ni Pi 1703.839
ni Pi Xi 340.768
X 340.768 1703.839 0.200 W)

FORUMS8
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4.3.4
[1] ( )
1
b
(|
(|
)
[
1|
!
)|
)
)
)
[
)|
[
[
)|
b
— 1|
) L __
T |
e -
N Xi Mo N X
(kN) (m (kN-m)
-14.210 0.350 -4.974
170.384 0.200 34.077
156.174 E—— 29.103
4.3.5
@
M
a > 2.5d0%H S= S——tanf
a 2.5d Sh S
S, Q)
d (mm)
d* (mm)
b (mm)
S Q)
M (N_mm)
0 0 0.000 tan® 0.000
a (mm)
S M Sh
dr 2.5 d a M/d* tan®
(e Ccn) (kN) (kN.m) (kN)
) 50.000 125.000 50.000 156.174 29.103 0.000 156.174

FORUMS8



- 42 -

Sh
Tha b . d, = T al
T, (N/mm?)
Sh N)
d (mm)
d* (mm)
b (mm)
S Q)
al (N/mm?)
a Ce Cpt Cdc 1 «"
T " (N/mm?)
Ce
Cpt Pt
Cdc
(N/mm?)
Si(kN) d*(cm) T T a T = Ce |Cpt |Cdc
) 156.174 50.000 0.312 1.161 1.900 1.29 10.90 | 4.00

FORUMS8
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[1]

5.1

0.000 m

[BE4Z : mm]

5.1.1

€Y)
D

2)

Xi

Vi

2.028

2.028

Xi
(m

1.300

Vi

()

1.560

1.560

1.000

2.600x 0.600x%

1.300 (m)

1.560

2.028

Vi

Vi Xi

>

XG

FORUMS8
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@)
1)
i
|
|
|
|
|
|
|
| 1
|
|
|
|
|
|
|
S |
| |
|
2)
Vi Xi Vi Xi
. . (m) (m
1 2.600x 5.400x 1.000 14.040 1.300 18.252
> 14.040 E— 18.252
X6 X Vi Xi  ZVi 18.252  14.040 1.300 (m)
5.1.2
(@)
[1]
Wy v X
(kN) m
24.500 x 1.560 38.220 1.300
@)
[1] ( )
1)
Vv X VI X1
(m) (m () (m
( ) 14.040 1.300 0.000 0.000
Vu Xu
(m) (m
« ) 14.040 1.300
Vu vV Vi
Xu (VX VI XI') wu

FORUMS8
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Wu Vu Wi 1
(kN) (kN)
( ) 14.040 x 19.000 266.760 0.000 x 19.500 0.000
W X
Wu Wi Wu Xu wr Xb)/w
(kN) (m
« ) 266.760 1.300
®
[1] ( )
Ni Xi NI Xi
(kN) (m (kN.m)
38.220 1.300 49.686
266.760 1.300 346.788
304.980 | —— 396.474
5.1.3
1
N = E (ql4+q2) + L
q
L
X
[1]
REEEEEEEEREE]
-
) )
)
(B
)
1!
1|
1|
)|
)|
[
[
[
[
[
[
)|
)|
[
.
r———" r————————- b
I ]
L, 92, L N X
(KN/T) (KN/m?) (m) o ™
1 10.000 10.000 2.600 26.000 1.300
5.1.4
[1] ( )

FORUMS8
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Xp 4.118 m
yp 0.000 m
H 6.000 m
a 0.000 °

S 19.000 kN/m’
® 35.000 °
0 35.000 °

Wi 10.00 °

(w) Q) Q)
hw 0.000 m
W(KN)

w() P (kN)
56.00 | 230.682 0.000 40.471 | 271.153 100.147
57.00 | 222.097 0.000 38.964 | 261.061 100.368
58.00 | 213.705 0.000 37.492 | 251.197 100.343
w 57.00° P 100.368 kN

Wesin(om—d)
P =
cos{to— ¢ —a—29)
261. 061 X sin(57.00° —35.00° )
cos(57.00° —35.00° —0.000° —35.000° )
100.368 kN
Ph P cos(a &) 100.368x cos(0.000°  35.000° )
Pv P sin(fa d) 100.368x sin(0.000°  35.000° )
H 6. 000
Ho = — = = 2.000 m
3 3
y yp Ho 0.000 2.000 2.000 m
2« Pv 2X57. 569
pv= = = 44, 284 kN/m
L 2. 600
pv
Pv
L

80.00 °

82.217 kN

57.569 kN

FORUMS8
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L1 0.000 m

L2 2.600 m

. 14, 284
RETBIEALE DA ETRE pd = EEL- Ll = 5 600 X 0,000 = 0.000 kN/m

1 1
N = Bl « (pd+pv) - L2 = EX (0. 000444, 284) X2.600 = 57.569 kN

pd+2 - pv L2 0.000+2X44.284  2.600
X = ———————— *— = X = 1.733 m
pd+pv 3 0.000+44. 284 3

5.1.5
N > (ni Pi)
>ni-«Pi-Xi
X = —FV—
2ni - Pi
Pi
Xi
ni
[1] ( )
Xi Pi ni Pi ni Pi Xi
(m ni (kN)
2 -0.541 4 341.303 1365.21 -738.58
3 -2.100 5 341.838 1709.19 -3589.30
>ni Pi 3074.404

Sni Pi Xi @ -4327.882
X -4327.882 3074.404  -1.408  (m)

FORUMS8
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5.1.6
[11
N Xi Mo N X
(kN) (m) (kN.m)
304.980 1.300 396.474
26.000 1.300 33.800
57.569 1.733 99.786
-307.440 1.408 -432.788
81.109 97.272
5.1.7
@
+ @
1 =
T M
(cm) (cm’/ ) (cm®)
10.0 D22 3.871 4.00 15.484

11.715 (cm?)

[BfL : mm]

FORUMS8
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@
D .
Xt bn {As + (x—d)}=0.0
L0x%RD 5,
M
g, —
b x h x (x—d) + (h/2—4d)
c|———|+n-As-
2 (2 3) b’
d—x
O — N O¢°*
X
X (mm)
h (mm) h 600.000
b (mm) b 1000.000
d (mm)
As (mm?)
n n 15.00
e (mm)
ocC (N/mm?)
oS (N/mm?)
M (N.mm)
M X (N/mm?) (N/mm?)
(kN.m) (cm)
( ) 97.272 13.096 3.256 10.000 137.650 180.000
5.2 [2]
0.300 m
1
L
!
1|
|
|
|
|
|
!
|
|
|
|
| |
| |
| |
e
]
N N K
-y 4
[BE4Z : mm]

FORUMS8
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5.2.1

€Y)
)

2)

@
D

2)

Vi Xi Vi Xi
x x () Q)
2.300x 0.600x 1.000 1.380 1.150 1.587
1380 | —— 1.587
XG > Vi Xi > Vi 1.587 1.380 1.150 (m)
R
!
1!
!
|
|
!
|
[ 1
|
|
|
|
|
|
|
|
|
|
L
| |
S -
Vi Xi Vi Xi
i i () ()
2.300x 5.400x 1.000 12.420 1.150 14283
12.420 | —— 14.283
XG > Vi Xi Z Vi 14.283 12.420 1.150 (m)

FORUMS8



- 51 -

5.2.2

€Y)
[1]
€Y)

@

5.2.3
o
[1]

@
[1]

D

( )
R
[
(B
)
[
1|
1|
)|
)|
[
)
)|
|
[
[
)|
L
I
L |
Vi Xi Vi Xi
x x () Q)
2.300x 0.900x 1.000 2.070 1.150 2.380
2.070 | —— 2.380
XG > Vi Xi > Vi 2.380 2.070 1.150 (m)
Wy v X
(kN) (m)
24.500 x 1.380 33.810 1.150
( )
v X 4 X1
(m) (m) () (m)
( ) 12.420 1.150 0.000 0.000
Vu Xu
() (m)
« ) 12.420 1.150
Vu LAY |

FORUMS8



- 52 -

Xu (V X VI XI') W
Wu Vu Wi VI
(kN) (kN)
( 12.420 x 19.000 235.980 0.000 x 19.500 0.000
W X
Wu Wi Wu Xu Wi Xbsw
kN) (m
( 235.980 1.150
[2] (
1)
v X Vi X1
() (m () (m
( 12.420 1.150 2.070 1.150
Vu Xu
() (m
( 10.350 1.150
Vu vV Vi
Xu (V X VI XI') W
Wu Vu Wl Vi
(kN) (kN)
( 10.350 x 19.000 196.650 2.070 x 19.500 40.365
W X
Wu wl Wu Xu WI XD/W
(kN) (m
( 237.015 1.150

FORUMS8



2)

Hr=1.500
Hf=1.000
v

I‘ =
TRAR
RERREE
Pf=10. 000 Lrrrrrnd
rrrrrrnt Pr=15. 000
e SN

Hf 1.000 (m)
Hr 1.500 (m)

|«

Pf  12.207 (kN/m2)
Pr 15.000 (kN/m?)

Pf+Pr
S BitBer 2

31.288 (kN)

Pf+2 + Pr 4
——— +Bj = 1.189 (m)
3+ (Pf+Pr)

Bj Bj 2.300 (m)
Bc Bc 1.000 (m)
A A 1.000
®
[1] ( )
Ni Xi NI Xi
(kN) (m) (kN.m)
33.810 1.150 38.882
237.015 1.150 272.567
270.825 | —— 311.448

FORUMS8
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5.2.4
1
N = E (ql4+q2) * L
q
L
X
[1]
IR EEEEEE]
B
!
1|
|
|
!
|
|
|
[
[
|
|
[
|
|
|
| |
| |
—_—— e 1T
I ]
ql q22 L N X
(KN/m) (KN/?) (m) o ™
1 10.000 10.000 2.300 23.000 1.150
5.2.5
[11 ( )
Xp 4.118 m
yp 0.000 m
H 6.000 m
a 0.000 °
Y s 19.000 kN/m?®
® 35.000 °
0 35.000 °
Wi 10.00 °
(w) Q) )
hw 0.000 m
WCKN)

() P (kN)
56.00 | 230.682 0.000 40.471 | 271.153 100.147
57.00 | 222.097 0.000 38.964 | 261.061 100.368
58.00 | 213.705 0.000 37.492 | 251.197 100.343

80.00 °

FORUMS8
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w 57.00° P 100.368 kN

Wesin(ow—2¢)

coslom—¢p—a—0)
261. 061 X sin(57.00° —35.00° )

cos (57.00° —35.00° —0.000° —35.000° )
100.368 kN

Ph P cos(d &)  100.368x cos(0.000° 35.000° )  82.217 kN

Py P sin(d &)  100.368x sin(0.000° 35.000° )  57.569 kN

y yp Ho 0.000 2.000 2.000 m

2+ Pv 2X57. 569
pv= = = 44,284 kN/m
L 2.600

pv
Pv
L
L1 0.300 m
L2 2.300 m
o 14, 284
ARETHIIE AL E DA ETRAE pd = EEQ- Ll = 5 600 X 0.300 = 5.110 kN/m

1 1
N = B « (pd+pv) - L2 = EX (5. 110+44, 284) X2.300 = 56.803 kN

pd+2 - pv L2 5.110+2X44.284  2.300
X = ————— +— = X = 1.454 m
pd+pv 3 5.110+11. 281 3

FORUMS8
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[2] ( )
Xp 4.118 m
yp 0.000 m
H 6.000 m
a 0.000 °
S 19.000 kN/m’
[0} 35.000 °
e} 35.000 °
Wi 10.00 ° 80.00 °
(w) w ™
hw 1.500 m
WCKN)
w() P (kN)
56.00 | 216.264 7.209 40.471 | 263.944 97.485
57.00 | 208.216 6.941 38.964 | 254.121 97.699
58.00 200.349 6.678 37.492 244 .519 97.676
w 57.00° P 97.699 kN
Wesin(low—¢)
P fr—
cos(om—¢p—a—19)
B 254. 121 X sin(57. 00° —35.00° )
cos(57.00° —35.00° —0.000° —35.000° )
97.699 kN
Ph P cos(a o) 97.699x cos(0.000°  35.000° ) 80.030 kN
Pv P sin(a o) 97.699x sin(0.000° 35.000° ) 56.038 kN

FORUMS8
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y yp Ho 0.000 2.000 2.000 m

2-Pv 2X56. 038
pv= = " = 43.106 kN/m
L 2.600

pv
Pv
L
L1 0.300 m
L2 2.300 m
e o . pv 43,106
REWEME OSSR ERE pd = T L1 = 2 600 X 0.300 = 4,974 kN/m

1 1
N = B « (pd+pv) + L2 = EX (4.974+43. 106) X2.300 = 55.292 kN

pd+2-pv L2 4.97442X43.106 _ 2.300
X = ———————— *— = X = 1.454 m
pd+pv 3 4.974443. 106 3

FORUMS8
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5.2.6
N T (i Pi)
2ni - Pi-Xi
X = —(/—F7——"
Zni -« Pi
Pi
Xi
ni
[1] ( )
Xi Pi ni Pi ni Pi Xi
m ni (kN)
2 -0.241 4 304.565 1218.26 -293.60
3 -1.800 5 303.694 1518.47 -2733.25
Zni Pi 2736.732
zni Pi Xi -3026.850
X -3026.850 2736.732 -1.106 (m)
5.2.7
[1] ( )
NI N R R AR
|
b
)|
)|
)
)
(!
(!
[
|
1|
[
[
[
[
[
y =
v b N
=< o
- ———) L RREAE
! I
T kil
R
==L
N Xi Mo N X
(kN) (m) (kN.m)
270.825 1.150 311.448
-31.288 1.189 -37.213
23.000 1.150 26.450
55.292 1.454 80.396
-273.673 1.106 -302.685
44155 78.396

FORUMS8
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5.2.8
@
M
a > 2.5dDFA S, = S———tanh
a 2.5d Sy S
Sh )
d (mm)
d* (mm)
b (mm)
S N)
M (N_mm)
0 0 0.000 tan® 0.000
a (mm)
S M Sh
d- 2.5 d a M/d®  tan@
(cm) (cm) (kN) (kN_.m) (kN)
) 50.000 125.000 166.501 44155 78.396 0.000 44155
S
Tn — h, é T a1
b-d
T, (N/mm?)
Sh N\)
d (mm)
d- (mm)
b (mm)
N)

a (N/mm?)
al Ce Cpt Cdc T "
T 4" (N/mm?)
Ce
Cpt Pt
Cdc

(N/mm?)
Si(kN) d*(cm) 1 T a T Ce |Cpt |Cdc
) 44155 50.000 0.088 0.325 1.900 1.29|1.01|1.00

FO

RUM8
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[3]

5.3

0.541 m

[EAZ : mm]

e

5.3.1
o
)

2)

Xi

Vi

1.272

1.272

Xi
(m)

1.030

Vi

()

1.235

1.235

1.000

2.059x 0.600x

1.030 (m)

1.235

1.272

> Vi

Vi Xi

>

XG

FORUMS8
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@
)

2)

5.3.2
@

[1]
€Y)

@

D
!
(|
(|
)
[
1|
!
)|
L 1
)
[
)|
[
[
)|
)|
[
[
——l L
| |
e -
Vi Xi Vi Xi
i i () (m
2.059% 5.400x 1.000 11.119 1.030 11.447
11.119 | — 11.447
XG > Vi Xi > Vi 11.447 11.119 1.030 (m)
( )
]
!
!
1!
!
|
|
!
|
!
|
|
|
|
|
|
|
|
| :
——l L
| |
S -
Vi Xi Vi Xi
i i () (m
2.059x 0.900x 1.000 1.853 1.030 1.908
1.853 | —— 1.908
XG > Vi Xi > Vi 1.908 1.853 1.030 (m)

FORUMS8
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5.3.3
€Y
[1]

@
[1]

[2]

D

D

W y v X
kN) (m
24.500 x 1.235 30.267 1.030
)
Y X Vi X1
(m) (m () (m
( ) 11.119 1.030 0.000 0.000
Vu Xu
() (m)
( ) 11.119 1.030
Vu VvV Vil
Xu (V X VI XI') W
Wu Vu Wl Vi
(kN) (kN)
( ) 11.119 x 19.000 211.253 0.000 x 19.500 0.000
W X
Wu Wi Wu Xu wr Xbsw
(kN) (m)
( ) 211.253 1.030
)
v X Vi X1
(m) (m () (m
( ) 11.119 1.030 1.853 1.030

FORUMS8
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Vu Xu
() (m
( ) 9.266 1.029

Vu Y |

Xu (VX VI XI) Vu

Wu Vu Wi VI
(kN) (kN)
( ) 9.266 x 19.000 176.044 1.853 x 19.500 36.135
W X
Wu Wi Wu Xu Wi Xbsw
(kN) (m)
« ) 212.179 1.030

2)

Hr=1.500

Hf=1.000
I kv I
AAAANANAR
Frrrrrrrnd
Pf=10. 000 Frrrrrrrnd
Frrrrrrrd Pr=15. 000
RN

Hf 1.000 (m)
Hr 1.500 (m)

il

PF 12.500 (kN/m?)
Pr 15.000 (kN/m2)

Pf+Pr ,
U = ) *Bj*Bc+ 1 = 28.311 (kN)

FORUMS8
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Pf+2 - Pr

= ——  *Bj = 1.061 (m)
3+« (Pf+Pr)
Bj Bj  2.059 (m)
Bc Bc 1.000 (m)
A A 1.000
(©)
[1] ( )
Ni Xi Ni
(kN) (m) (kN.m)
30.267 1.030 31.160
212.179 1.029 218.351
242.446 | ——— 249.511
5.3.4
1
N = E (ql4+q2) + L
q
L
X
[1]
S L TR EEER]
B
)|
(B
1
1|
!
!
)|
) )
[
)
|
)|
[
[
)|
)|
) |
)
—_— 1
L [ i
i Wy ; N X
(kN/m?) (kN/m?) (m (kN) m
10.000 10.000 2.059 20.590 1.030
5.3.5
[1] ( )
Xp 4.118 m
yp 0.000 m

FORUMS8
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H 6.000 m
a 0.000 °
S 19.000 kN/m’
0] 35.000 °
) 35.000 °
wi 10.00 °
(w) W) ®
hw 0.000 m
WCKN)

w() P (kN)
56.00 | 230.682 0.000 40.471 | 271.153 100.147
57.00 | 222.097 0.000 38.964 | 261.061 100.368
58.00 | 213.705 0.000 37.492 | 251.197 100.343
w 57.00° P 100.368 kN

Wesin(m—d)
P =
cos{to— ¢ —a—19)
261. 061 X sin(57.00° —35.00° )
cos (57.00° —35.00° —0.000° —35.000° )
100.368 kN
Ph P cos(a &) 100.368x cos(0.000°  35.000° )
Pv P sin(a o) 100.368x sin(0.000°  35.000° )
H 6. 000
Ho = — = = 2.000 m
3
y yp Ho 0.000 2.000  2.000 m
2+ Py 2X57. 569
pv= = = 44, 284 kN/m
L 2. 600
pv
Pv
L
L1 0.541 m
L2 2.059 m

80.00 °

82.217 kN

57.569 kN

FORUMS8
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o 44, 984
WEFWTEAT O EE  pd = p%-u = oo X 0.54L = 9.214 K/n

1 1
N = rh (pd+pv) + L2 = EX (9. 214+44. 284) X2.059 = 55.076 kN

pd+2-pv L2 9.214+2X44.284  2.059
X = ———————— *— = X = 1.254 m
pd+pv 3 9.214444. 284 3

[2] ( )
Xp 4.118 m
yp 0.000 m
H 6.000 m
a 0.000 °
ys 19.000 kN/m?®
¢ 35.000 °
) 35.000 °
Wi 10.00 ° 80.00 °
(w) Q) )
hw 1.500 m
W(KN)

() P (kN)
56.00 | 216.264 7.209 40.471 | 263.944 97.485
57.00 | 208.216 6.941 38.964 | 254.121 97.699
58.00 | 200.349 6.678 37.492 | 244.519 97.676
w 57.00° P 97.699 kN

FORUMS8
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Wesin(fow—¢)

cos(w— ¢ —a—10)
254. 121 X sin(57. 00° —35.00° )

cos (57.00° —35.00° —0.000° —35.000° )
97.699 kN

Ph P cos(a &)  97.699x cos(0.000° 35.000° )  80.030 kN

Pv P sin(@ &)  97.699x sin(0.000° 35.000° )  56.038 kN

y yp Ho 0.000 2.000 2.000 m

2Py 2X56. 038

pv= = = 43,106 kN/m
L 2. 600
pv
Pv
L
L1 0.541 m
L2 2.059 m
. » . pv 43,106
REWTENMNE DS ERE pd = T N S 600 X 0.541 = 8.969 kN/m

1 1
N = 5 (pd+pv) + L2 = E;><(8.9694—43.106)><2.059 = 53.612 kN

pd+2-pv L2 8.969+2X43.106  2.059
X = ———————— +— = X = 1.254 m
pd+pv 3 8.969443. 106 3

FORUMS8




- 68 -

5.3.6

[1]

N > (ni Pi)
>ni«Pi-Xi
X = —FV— 5
2ni - Pi
Pi
Xi
ni
( )
Xi Pi ni Pi ni Pi Xi
(m ni (kN)
2 0.000 4 304.565 1218.26 0.00
3 -1.559 5 303.694 1518.47 -2367.30
Zni Pi 2736.732
Zni Pi Xi -2367.297
X -2367.297 2736.732 -0.865 (m)

FORUMS8
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5.3.7
[1]
v
v =
Ni Xi Mo N X
(kN) (m (kN.m)
242446 1.029 249.511
-28.311 1.061 -30.030
20.590 1.030 21.208
53.612 1.254 67.254
-273.673 0.865 -236.730
14.664 71.213
5.3.8
@
M
a > 2.5dDOEE S, = S—d—,tanﬂ
a 2.5d Sy S
Sh )
d (mm)
d- (mm)
b (mm)
S N)
M (N.mm)
0 0 0.000 tan® 0.000
a (mm)
. S M . Sh
d 25 d a M/d®  tan@
(cm) (cm) (kN) (kN.m) (kN)
) 50.000 125.000 166.501 14.664 71.213 0.000 14.664

FORUMS8
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Sh
Ton — b . d, = T al
T, (N/mm?)
Sh N)
d (mm)
d* (mm)
b (mm)
S N\)
al (N/mm?)
T a Ce Cpt Cdc 1 «"
T " (N/mm?)
Ce
Cpt Pt
Cdc
(N/mm?)
Si(kN) d*(cm) T T a T = Ce |Cpt |Cdc
( ) 14.664 50.000 0.029 0.325 1.900 1.29|1.01|1.00
5.4 [4]

FORUMS8
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5.4.1

€Y)
)

2)

@
D

2)

Vi Xi Vi Xi
x x () Q)
0.500x 0.600x 1.000 0.300 0.250 0.075
0.300 | —— 0.075
XG > Vi Xi > Vi 0.075 0.300 0.250 (m)
1 ]
L
!
1!
!
|
|
!
|
[ 1
|
|
|
|
|
|
|
|
|
|
RN [ S -
| |
S -
Vi Xi Vi Xi
i i () ()
0.500% 5.400x 1.000 2.700 0.250 0.675
2.700 | —— 0.675
XG > Vi Xi > Vi 0.675 2.700 0.250 (m)

FORUMS8
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5.4.2
€Y
[1]

@
[1]

®
[1]

W y v X
kN) (m
24.500 x 0.300 7.350 0.250
)
1)
Y X Vi X1
(m) (m () (m
( ) 2.700 0.250 0.000 0.000
Vu Xu
() (m)
( ) 2.700 0.250
Vu VvV Vil
Xu (V X VI XI') W
Wu Vu Wl Vi
(kN) (kN)
( ) 2.700 x 19.000 51.300 0.000 x 19.500 0.000
W X
Wu Wi Wu Xu wr Xbsw
(kN) (m)
( ) 51.300 0.250
( )
Ni Xi Ni Xi
(kN) (m (kN.m)
7.350 0.250 1.837
51.300 0.250 12.825
58.650 | ——— 14.662

FORUMS8
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5.4.3
1
N = E (ql4+q2) * L
q
L
X
[1]
_ 1y \ ﬂ
N
!
1|
|
|
!
|
|
|
[
[
|
|
[
|
|
|
|
|
———) e -1
I ]
gl 92, L N X
(KN/m) (KN/?) (m) o ™
1 10.000 10.000 0.500 5.000 0.250
5.4.4
[1] ( )
Xp 4.118 m
yp 0.000 m
H 6.000 m
a 0.000 °
ys 19.000 kN/m®
® 35.000 °
) 35.000 °
Wi 10.00 ° 80.00 °
(w) Q) *
hw 0.000 m
WCKN)
w(®) P (kN)
56.00 | 230.682 0.000 40.471 | 271.153 100.147
57.00 | 222.097 0.000 38.964 | 261.061 100.368
58.00 | 213.705 0.000 37.492 | 251.197 100.343

FORUMS8
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w 57.00° P 100.368 kN

Wesin(ow—2¢)

coslom—¢p—a—0)
261. 061 X sin(57.00° —35.00° )

cos (57.00° —35.00° —0.000° —35.000° )
100.368 kN

Ph P cos(d &)  100.368x cos(0.000° 35.000° )  82.217 kN

Py P sin(d &)  100.368x sin(0.000° 35.000° )  57.569 kN

y yp Ho 0.000 2.000 2.000 m

2+ Pv 2X57. 569
pv= = = 44,284 kN/m
L 2.600

pv
Pv
L
L1 2.100 m
L2 0.500 m
o 44, 284
ARETHIIE AL E DA ETRAE pd = EEQ- Ll = 5 500 X 2.100 = 35.768 kN/m

1 1
N = ry « (pd+pv) - L2 = EX (35. 768-+44. 284) X 0.500 = 20.013 kN

pd+2 - pv L2 35.768+2X44.284 ~ 0.500
X = ————— +— = X = 0.259 m
pd+pv 3 35. 768+11. 281 3

FORUMS8
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RN EENE ..
5.4.5
N = (ni Pi)
Zni«Pi-Xi
X = T e 6.
Zni-+Pi
Pi
Xi
ni
[1] ( )
Xi Pi ni Pi ni Pi Xi
(m) ni (kN)
3 0.000 5 341.838 1709.19 0.00
>ni Pi 1709.192
ni Pi Xi 0.000
X 0.000 1709.192 0.000 (m)
5.4.6
[1] ( )
_ AR
|
) )
) )
(I
(B
)
1|
1|
1|
)|
)|
[
[
[
[
[
[
)|
)|
[
[
—_——
| |
e -

FORUMS8
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Ni X MoN X
(kN) (m (kN.m)
58.650 0.250 14.662

5.000 0.250 1.250
20.013 0.259 5.181
-170.919 0.000 0.000
-87.256 | ———— 21.093

5.4.7
@
M
a > 2.5dDFA S, = S———tanh
a 2.5d Sy S
Sh )
d (mm)
d- (mm)
b (mm)
S )
M (N_mm)
0 0 0.000 tan® 0.000
a (mm)
. S M . Sh
(2m) 2.5 d ?cm) KN (kN ) M/d®  tan@ N
) 50.000 125.000 235.900 87.256 21.093 0.000 -87.256
S
Tn — h, é T a1
b-d
T, (N/mm?)
Sh )
d (mm)
d- (mm)
b (mm)
S )
“ (N/mm?)
al Ce Cpt Cdc Tt "
T a" (N/mm?)
Ce
Cpt Pt
Cdc

FORUMS8
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(N/mm?)
Si(kN) d*(cm) T T a T Ce |Cpt |Cdc
87.256 50.000 0.175 0.325 1.900 1.29(1.01|1.00

FORUMS8
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